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ERERKED 1,195.9| x 1.0/ — 0| x 0| x = 1,195.9| m
HERERREQ 2,812.8| x 1.0/ — 0| x 0| x = 28128 m
EREIE1SR 1,298.4| x 1.0 — 425 x| 0.7 85| x | 04| = 1,234.7) m
Y 38 [ R R 1,777.2| x 1.0 — 0| x 0| x = 1,777.2] m
BT ER S SR 1,130.8| x 1.0 — 0| x 0| x = 1,130.8) m
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= 11,1000/ m
BRELLE 11,132.0| x 07| + 1,000 1,000 = 78| t
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SBEERERERIR 2,101.7| x 1.0 — 0| x 0| x = 2,101.7) m
ERERKED 1,195.9| x 1.0 — 0| x 0| x = 1,195.9| m
ERERREQ 2,812.8| x 1.0 — 0| x 0| x = 28128 m
EREHE1SH 1,298.4| x 1.0 — 425 x| 0.7 85| x | 04| = 1,234.7) m
T 38 [ R R 1,777.2| x 1.0 — 0| x 0| x = 1,777.2] m
BT ER % SR 1,130.8| x 1.0 — 0| x 0| x = 1,130.8) m
B REFE ISR 3,065.4| x 1.0 — 180.6| X | 05 X = 29751 m
BT 38 A E R 596.5| X 1.0 — 0| x 0| x = 596.5| mi
BB EEA 72— 2,448.3| x 1.0 — 0| x 0| x = 24483 m
R B BT = SPIAR 4R 3,904.0| x 1.0 — 0| x 0| x = 39040 m
BT 38 A i R 936.0| x 1.0 — 0| x 0| x = 936.0| mi
A&t 23,389.6| mi
= 23,4000| m
BRELLE 23,389.6| X 0.7 + 1,000 1,000 = 164 t




